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All voltages are D.C. positive except where noted. Test voltage = 117 volts, 25/60 cycles. Due to
ROGERS MAJESTIC R180 A<<u Wu_sv line voltage fluctuations, the readings may vary =10%.



ROGERS MAJESTIC R180 (W, B, M)

LOW FREQUENCY END OF DIAL
GANG CAPACITOR AT MAXIMUM
CAPACITY (CLOSED).
DRUM [N POSITION SHOWN

? COILS OF SPRING EXTENDED TO |Ys"

1 CENTER LINE OF POINTER AT

LENGTH OF CORD APPROX. 41"

3 TURNS AROUND TUNING SHAFT
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ALIGNMENT PROCEDURE

SIGNAL GENERATOR RECEIVER
Operation - i ;
Steps Connections to Receiver Frequency CE:;‘;;}% v N%)etfes %gi"ﬁtaﬂgtﬁe&gﬁ?

1 To pin 1 of 12BAG6 2nd LF. Transformer
through .05 mf. capacitor 455 ke. | Min. L7-Lé6

2 To pin 7 of 12BE6 . 1st LF. Transformer
through .05 mf. capacitor 455 ke. ” A 1514

3 To antenna connection Oscillator Trimmers
through 100 mmf. capacitor* | 1500 ke. | 1500 ke. B C4-C5

4 To antenna connection Antenna Trimmer
through 100 mmf. capacitor* | 1500 ke. {1500 ke. C1

*or a standard dummy antenna with a 200 mmf capacitor in series.
NOTE A—After completing operation No. 2, do not readjust L7 - L6.
NOTE B—Replace back cover before aligning R.F. trimmers, C4 and C5 are in parallel, adjusting C4 should be
sufficient.



